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#0Tcl an3dmun1ImaanuIes OM uaz DDM no wolad 1
set ns [new Simulator]

set
set
set
set
set
set
set

$ns
$ns

set
set
set
set
set

set
set
set
set
set

$ns
Sns
$ns
$ns
Sns
Sns
$ns
Sns

Sns
sns
Sns
$ns
5ns

set
Sns
set
$ns
set
5ns
set
Sns
set
Sns

nf [open out
tf [open out
dfl 5 [open
df5_2 [open
df2 5 [open
df5 3 [open
df5 4 [open

namtrace-all
trace-all 5t

sumga
sumgb
sumgc
sumgd
numpkt O

CcC o oo

nodel [Sns n
node2 [$ns n
node3 [$ns n
noded [Sns n
node5 [$ns n

simplex-link
simplex-link
simplex-1link
simplex-1link
simplex-link
simplex-1link
simplex-link
simplex-iink

queue-limit
gueue-limit
queue-limit
queue-limit
gueue-limit

dropl 5 [Sns create-trace Drop $dfl 5 $nodel $node5]

.nam w]
.Er wl

dropl 5.
drop5_2.
drop2_ 5.
drop5_3.
drop5_4.

$nf
£

ode]
ode]
ode]
ode]
ode]

$nodel
$node5
Snode5
S$node3
$node5
Snode?2
$node5
$noded

3nodel
$nodeb
Snode2
Snodeb
Snodeb

tr w)
tr w)
tr wj
tr w)
tr wj

Snodeb
$nodel
$node3
$node5
Snode?
$nodeb
Snoded
$node5

Snode5
Snode?2
Snodeb
$node3
Snoded

lkb
lkb
1kb
1kb
lkb
1kb
lkb
lkb

10000
10000
10000
10000
10000

10ms
10ms
10ms
10ms
10ms
10ms
10ms
10ms

drop-trace $nodel $node5 Sdropl 5

drop5 2 [$ns create-trace Drop Edf5_2 $node5 $nodeZ]

drop-trace $node5 $nodeZ $drop5 2

drop2_5 [$ns create-trace Drop $df2 5 Snode2 $node5]

drop-trace $node? $nodeb $drop2 5

drop5 3 [$ns create-trace Drop Edf5_3 Snode5 S$node3]

drop-trace $node5 $node3 $drop5 3

drop5_4 [$ns create-trace Drop $df5 4 $node5 $noded)

drop-trace $Snode5 $noded S$Sdrop5S 4

DropTail
DropTail
DropTail
DropTail
DropTail
DropTail
DropTail
DropTail
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$ns
$ns
$ns
$ns

set
set
set
set

set

set
set
set
set
set
set

Sudp_1
Sudp 2
Sudp_3
Sudp_4
Sudp §
$udp_6

$ns
S$ns
sns
Sns
$ns
Sns

Sns
Sns
Sns

set
set
set
set
set

set
set
set
set

duplex-link-op S$nodel $nodeb
duplex-link-op $node5 S$node2
duplex-link-op $nocdeS5 $node3
duplex-link-op $node5 $noded

ga [$ns monitor~-queue S$nodel
gb [$ns monitor-gueue $nodeb
gc [$ns monitor-queue $nodeZl
gd [$ns monitor—-gueue Snodeb

orient
orient
orient
orient

$nodeb
S$node?2
Snode5
Snode3

right
right
right-up
right-down

ﬂ"]
flﬂ]
"‘ll]

L) "]

expol [new RandomVariable/Exponential]
Sexpol set avg_ 1.26
set expol [new RandomVariable/Exponential]
$expol set avg_ 110

udp_1 [new Agent/UDP]
udp_2 [new Agent/UDP]
udp_3 [new Agent/UDP]
udp_4 [new Agent/UDP]
udp 5 [new Agent/UDP]
udp 6 [new Agent/UDP]

attach-agent
attach-agent
attach-agent
attach-agent
attach-agent
attach-agent

connect Sudp

set packetSize_
set packetSize_
set packetSize_
set packetSize
set packetSize
set packetSize_

$nodel
Snoede?
$node?2
$node2
$noded
Snode3

1 Sudp

1000
1000
1000
1000
1000
1000

Sudp 1
$udp 2
Sudp_3
$udp_5
Sudp 4
Sudp 6

2

connect $udp_3 Sudp_4
connect Sudp_ 5 Sudp_6

obj 2 [new Application/TransObj]
obj 3 [new Application/RecvObj]
obj 4 [new Application/RecvObj]
obj_5 [new Application/RecvObjl
myapp_l1 [new BApplication/SimObj]

fedl [new Application/FedOM]
fedl s [new Application/FedOM]
fed2 [new Application/FedOM]
fed2 s [new Application/FedOM]

S$fedl attachsimeocbj Smyapp 1
$fedl attach-agent $Sudp 1

$fedl_s attachsimobj
$fedl s attach-agent

$fed2 s attachsimobj
$fed2 3 attach-agent

$obj 2
Sudp 2

$obj_3
$udp_3
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$fed2 attach-agent $udp_ 4

$obj_3 subscribe $obj_2

proc finis

h {} {

128

global ns nf tf dfl S df5 2 df2_5 df5_3 df5_4 sumga sumgb sumgc
sumgd sumge numpkt

$ns

clos
clos
clos
clos
clos
clos
clos

flush-trace
e $nf

e Stf

e $dfl 5

e $df5 2

e $df2_5

e $df5 3

e $df5 4

set now [S$ns now)
set sumga [expr $sumga * 1]
$set sumgb [expr S$sumgb * 1000]
set sumqgc [expr $sumgc * 1000]
set sumgd [expr $sumgd * 1000]

set avg_galen [expr $sumga / $now]

$set avg_gblen [expr $sumgb / S$now]
set avg_gclen [expr $sumgc /
set avg_qgdlen [(expr $sumqd /

puts
puts
puts
puts
puts

exit
}

"avg_qalen
"avg gblen
"avg _gclen
"avg_gdlen

[format %#.
[format %#.
[format %#.
[format %4#.

Snow]
Snow)

4g Savg_galen]"
4g $avg_gblenl”
4g Savg_gclen]”
4g Savg _gdlen]"

"numpkt=[format %#.4g Snumpkt]"
#exec nam out.nam &

0

proc sendpacket {} {

global ns bytecount0 src expol expol myapp_l numpkt

set
set
5ns
set

}

proc obser

global ns ga gb gc gd sumga sumgb sumqgc sumgd

set
set
set
set
set

set
set
set

numpkt [expr $numpkt +1]
now [3ns now]

at [expr Snow + [Sexpol value]]

bytes [expr round ([$expol value])]
$myapp_1 send S$Sbytes

ve {} {

now [Sns nowl

galen [$ga
gblen {$gb
gclen [$qc
gdlen [$qd

set pkts_]
set pkts ]
set pkts_]
set pkts_]

sumga [expr $sumga + $galen ]
sumgb [expr $sumgb + S$gblen ]
sumgc [expr $sumgc + $gclen |

"sendpacket"



}

Sns
Sns
$ns
$ns

set sumgd [expr $sumgd + $gdlen ]

$ns at {expr S$now + 1]

at 0.00001 "sendpacket"
at 0.000001 "observe"
at 10000 "finish"

run

"observe”

#0Tel anddddmiumInaaeu3ns OM uaz DDM newelad 2

set ns [new Simulator]

set
set
set
set
set
set
set
set

5ns
Sns

set
set
set
set
set

set
set
set
set
set

$ns
sns
5ns
$ns
Sns
$ns
3ns
$ns
$ns
Sns

Sns
Sns
Sns
$ns
$ns
5ns

nf [open out.nam w]
tf [open out.tr w]

df1_5
dfs_2
df2_5
df5_6
dfs_4
df6_3

[open
[open
[open
{open
fopen
fopen

dropl 5.

drop5_2
drop2_5
drop2_5
drop5_4
drop2_5

namtrace-all Snf
trace-all 5tf

sumga O
sumgb 0O
sumge 0
sumgd 0
numpkt 0

nodel
node?2
node3
noded
nodeb

[$ns
[$ns
[5ns
[5ns
[$ns

node]
node]
noede]
nede]
node]

simplex-link $nodel
simplex-link $node5
simplex-link $node3
simplex—-link $nodeé6
simplex-1link Snodeb
simplex-link $nodeé6
simplex-1ink $node5
simplex-link S$node2
simplex-link $node5
simplex-link $node4

queue-limit
queue-limit
queue-limit
queue-limit
queue-limit
queue-limit

Snodel
$nodeS
Snode?2
Snodeb
5node5
Snodeb

tx wj
Ltr w]
.txr w]
.tr w)
.tr w)
.tLr w]

Snode$5
Snodel
Snodeé6
Snode3
$nodeb
Snode5
Snode?
S$node5
Snoded
$nodeb

Snodeb
Snode?2
Snodeb5
Snode3
$noded
Snode6

1lkb
lkb
1lkb
1lkb
1kb
1kb
lkb
lkb
1kb
1kb

10000
10000
10000
10000
10000
10000

10ms
10ms
10ms
10ms
10ms
10ms
10ms
10ms
10ms
10ms

PropTail
bropTail
DropTail
PropTail
DropTail
DropTail
DropTail
DropTail
DropTail
DropTail

129



set
sns
set
$ns
set
Sns
set
Sns
set
$ns

Sns
Sns
Sns
$ns
sns

set
set
set
set
set
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dropl_5 [$ns create-trace Drop $dfl 5 $nodel $node5)
drop-trace $nodel $node5 $dropl 5
drop5_2 ($ns create-trace Drop $df5 2 Snode5 $node2)
drop-trace $node5 $node2 $drop5 2
drop2_5 [$ns create-trace Drop $df2_5 $node2 $node5]
drop-trace $node2 Snode5 $drop2_5
$dropé6_3 ($ns create-trace Drop $df6_3 S$nodeS5 Snoded)
drop-trace $node6é $node3 $drop6 3
drop5_4 [$ns create-trace Drop $df5 4 Snode5 $noded]
drop-trace $node5 Snoded $drop5 4

duplex-link-op $ncdel
duplex-link-op $node5
duplex~link-op Snodeb
duplex-link-op Snodeé
duplex-link-op $node5

ga [$ns monitor-queue
gb {$ns monitor-queue
gc [$ns monitor-queue
gqd [$ns monitor-queue
ge [$ns monitor-queue

Snode5
S$node?2
Snodeé6
Snode3
Snoded

$nodel
S$nodes
$node?2
Snodeb
Snodeé

orient
orient
orient
orient
orient

5node5
Snode?2
Snodeb
$nodeb
Snode3

right
right
right-up
right-up
right-down

” ll]
" ll]
IIIl]
" "]

" "]

set expo0 [new RandomVariable/Exponential]
$expol set avg_ 1.26
[new RandomVariable/Exponential]
S$expol set avg_ 110

set

set
set
set
set
set
set

expol

udp 1
udp_2
udp 3
udp_ 4
udp 5
udp_ 6

Sudp 1 set
Sudp 2 set
Sudp 3 set
Sudp 4 set
$udp_5 set
Sudp 6 set

Sns
sns
Sns
Sns
5ns
sns

$ns
Sns
Sns

set
set
set
set

attach-

[new Agent/UDP)
[new Agent/UDP}
[new Agent /UDP]
[new Agent/UDP]
[new Agent/UDP]
[new Agent/UDP]

packetSize_ 1000
packetSize 1000
packetSize 1000
packetSize 1000
packetSize 1000
packetSize 1000

agent $nodel $udp 1

attach-agent $nedel S$Sudp 2

attach

-agent $nodeZ Sudp_ 3

attach-agent $nodeZ? $udp 5

attach
attach

connect Sudp 1 Sudp 2
connect Sudp_3 Sudp 4
connect $udp 5 Sudp 6

—-agent $node4 Sudp 4
-agent 3Snodel Sudp 6

obj_2 {new Application/TransObj]
obj_3 [new Application/RecvObij]
[new Application/RecvObij]
[new Application/RecvObij]

obj 4
obi 5



set myapp_l [new Application/S$imObj]

set fedl [new Application/FedOM)
[new Application/FedOM]
set fed2 [new BApplication/FedOM]
set fed2 s ([new Application/FedOM]

set fedl s

$fedl attachsimobj $myapp_1
$fedl attach-agent Sudp 1

$fedl s attachsimobj Sobj_2
$fedl_s attach-agent $udp_2

$fed2_s attachsimobj $Sobj_3
$fed2_3 attach-agent $udp 3
$fed2 attach-agent Sudp 4

S$obj 3 subscribe $obj_ 2

proc finish

(r {
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global ns nf tf dfl 5 df5_2 df2 5 df5_3 df5_4 sumga sumgb sumgc

sumqd sumge
Sns £
close
close
close
close
close
close
close

numpkt
lush-trace
Snf

Stf
$df1 5
$df5_2
$df2 5
$dfs 3
3df5_4

set now [$ns now]
set sumga [expr $sumga * 1]
$set sumgb [expr $sumgb * 1000}
set sumgc [expr $sumge * 1000]
set sumgd ([expr $sumgd * 1000])

set avg_galen [expr $sumga / $now]
#set avg gblen [expr S$Ssumgb / $nowl
set avg gclen [expr $sumgc / S$now)
set avg gdlen {expr $sumgd / $now]

puts
puts
puts
puts
puts

exit

}

"avg galen
"avg _gblen
"avg_qclen
"avg gdlen

[format %#.4g $Savg _galen]"
(format %#.4g Savg_gblen]”
(format %#.4g $avg gclen]™
[format %#.4g Savg_gdleni"”

"numpkt=[format %#.4g Snumpkt]"
#exec nam out.nam &

0

proc sendpacket {} {

global ns bytecount0 src expol expo0 myapp 1 numpkt

set numpkt [expr $numpkt +1]
set now [$ns now]
$ns at [expr Snow + [$expol value]] "sendpacket™
set bytes [expr round {{$expol valuel)]

Smyapp 1 send Sbytes



}

proc observe {} {

}

Sns
S$ns
$ns
$ns

global ns ga gb gc gd sumga sumgb sumgce sumgd
set now [$ns now]

set galen [$ga set pkts_]

set gblen [$qb set pkts ]

set gclen [$qc set pkts_]

set gdlen [$qd set pkts ]

set sumga [expr S$sumga + $galen
set sumgb [expr $sumgb + S$gblen
set sumgc [expr $sumgc + $gclen
set sumgd [expr $sumgd + $gdlen

[ N S

$ns at [expr Snow + 1] "observe"

at 0.00001 "sendpacket"
at 0.000001 "observe"
at 10000 "finish"

run

#0Tcl an3Ad M3 UNIINADDTOI TM 1 Regulating Federate

set
set

set

set
$ns
set
5ns

set
set
set
set

s$ns
Sns
Sns
$ns
5ns
sns
sns

$ns
$ns
Sns

set

namfile out.nam
tracefile out.tr

ns [new Simulator]

nf [open $namfile w]
namtrace-all $nf

f [open S$tracefile w]
trace-all $f

n0 {%ns node]
nl [$ns node]
n2 [$ns node]
router [$ns node]

color 0 Blue

color 1 Red

color 2 Green

color 3 Yellow

duplex-link $n0 Srouter 2Mb 50ms DropTail
duplex~link $router $nl 2Mb 5ms DropTail
duplex-link $router 5n2 2Mb 5ms DropTail

duplex-link-op $n0 $router orient right
duplex-link-op $router $nl orient up
duplex-link-op $router $n2 orient right

size0 [new RandomVariable/Exponential]

$size0 set avg_ 100

set
set

tcp0 [new Agent/TCP/FullTcp]
tepl [new Agent/TCP/FullTep)
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set tcp2 [new Agent/TCP/FullTcp}
set tcp3 [new Agent/TCP/FullTcpl]
Stcp0 set fid O

$tcpl set fid_ 1

$tcp2 set fid_ 2

$tcp3 set fid_ 3

5ns attach-agent $n0 $tcp0

5ns attach-agent $nl $tcpl

$ns attach-agent $nl $tcp2

$ns attach-agent $n2 S$tcp3

$ns connect $tcpl Stcpl
$ns connect $tcp3 Stcp2
Stepl listen
$tcpl listen
Stcp2 listen
$tcp3 listen

set rti [new Application/TimeManager]

set debug [new Application/TcpApp S$tcpl]

set fedagent0 [new Application/FedTMTar S$tcp0]

set fedagentl [new Application/FedTM/FedAgent $tcpl]
set fedagentZ [new Application/FedTM/FedAgent S$tcp2]
set fedagent3 [new Application/FedTMTar $tcp3}

set simobj

[new Application/SimObj)

S$simobij attachsize $sizel
set simobj_ s [new Application/TransObj]
set simobj r [new Application/RecvObj]

$fedagent0
S$fedagentl
Sfedagent2
$fedagent0
Sfedagent?2
$fedagent0
$fedagentl
Sfedagent?2
$fedagent3

attachsimob] $simobj
attachsimobj $simobj_s
attachsimebj $simobj r
connect $fedagentl
connect $fedagent3
lookahead 1

lookahead 1

lockahead 1

lookahead 1

$rti attachfedagent $fedagentl
$rti attachfedagent $fedagent?2

#8rti setcon $fedagent0 $fedagentl

$fedagent3
S$fedagent(

$fedagent0
$fedagentl
$fedagent2
$fedagent3

enable-autofwd
enable-autofwd

enable-trace
enable-trace
enable-trace
enable-trace

$obj_s subscribe-by $obj r

Application/TcpBhpp instproc showmsg {data} {
global ns
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}

$ns trace-~annotate "$self : $data "

proc finish {} {

Sns
sns

5ns

Sns

#0Tdl anddinSunmInaanaies TM 2 Regulating Federate

set
set

set

set
Sns
set
$ns

set
set
set
set
set

$ns
sns
Sns
$ns
$ns
Sns
$ns
S$ns

sns
Sns

$ns

set

global ns nf f namfile
$ns flush-~trace

close $nf

close S$f

puts "running nam..."
exec nam Snamfile &
exit O

at 0.1 "$fedagent0 start”
at 0.1 "5fedagent3 start"

at 5.0 "finish"

run

namfile out.nam
tracefile out.tr

ns [new Simulator]

nf [open Snamfile w]
namtrace-all $nf

f [open S$tracefile w]
trace-all $f

nd [%ns nodel
nl [$ns node]
n2 [$ns node]
n3 [$ns nodel
router [$ns node]

color O Blue

color 1 Red

color 2 Green

color 3 Yellow

duplex-link 5n0 S5router 2Mb 50ms DropTail
duplex-link $router $nl 2ZMb 5ms DropTail
duplex-link S$router $n2 2ZMb 5ms DropTail
duplex-link Srouter $n3 2Mb 100ms DropTail

duplex-link-op $n0 $router orient right
duplex-link-op S$router $nl orient up

duplex~link-op $router $n2 orient right

size0 [new RandomVariable/Exponentiall]

$sizel set avg_ 100

set

sizel (new RandomVariable/Exponential]

$sizel set avg_ 100
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set tepl0 [new
set tcpl [new
set tcp2 [new
set tcp3 [new
set tcpd [(new
set tcp5 [new

S$tcpl set
Stcpl set
$tcp2 set
Step3 set
Stcp2 set
$tcp3 set

fid_
fid_
fid_
fid_
f£id_
fid_

b W N = O

Agent/TCP/FullTcp]
Agent/TCP/FullTcp]
Agent/TCP/FullTcp]
Agent/TCP/FullTcp]
Agent/TCP/FullTcp]
Agent/TCP/FullTcp]

Sns attach-agent %n0 $tcpd
$ns attach—-agent $nl Stcpl
$ns attach-agent $nl $tcp2
$ns attach-agent 3%n2 $tcp3
$ns attach-agent $n3 S$tcp4
Sns attach-agent $nl $tcp5

$ns connect $tep0 Stepl
$ns connect $tcp3 Stcp2
$ns connect $tcpé4 Stcpbd

Stcpl listen
$tcpl listen
Stcp2 listen

$tcp3 list
Stepd list
$tepS list

en
en
en

set rti [new Application/TimeManager]

set debug [new Application/Tcplpp $tcp0]

set fedagent0 [new Application/FedTMTar $tcpO]

set fedagentl [new Application/FedTM/FedAgent $tcpl]
set fedagent2 [new Application/FedTM/FedAgent S$tcp2]
set fedagent3 [new Application/FedTMTar $5tcp3]

set fedagent4 [new Application/FedTMTar S$tcpd]

set fedagent% [new Application/FedTM/FedAgent $tcp5]

set simobj [new Application/SimObj]
$simobj attachsize $size0

set simobj 1 [new Application/SimObj]
$simobj 1 attachsize $size0

set simobj s [new Application/TransObj]

set simobj

_1s

[new Application/TransOby]

set simobj r [new Application/RecvObj]

Sfedagent0
Sfedagentl
Sfedagent?2
Sfedagent4
$fedagent$s

$fedagent0

attachsimobj
attachsimobj
attachsimobj
attachsimobj
attachsimobi

S$simobi
Ssimob] s
$simecbi r
S$simobj 1
$simobi 1s

connect S$fedagentl
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$fedagenté
$fedagentd
Sfedagent0
$fedagentl
$fedagent?
$fedagent3
$fedagent4

connect $fedagent3
connect S$fedagent5
lookahead 1

lookahead
lookahead
lookahead
lookahead

N el el

$fedagent5 lookahead

Srti attachfedagent $fedagentl
Srti attachfedagent $fedagent?
srti attachfedagent $fedagent5

#S5rti setcon Sfedagent0 $fedagentl

$fedagent3 enable-autofwd
$fedagent(0 enable-autofwd
$fedagentd4 enable-autofwd
Sfedagent0 enable-trace
$fedagentl enable-trace
5fedagent2 enable-trace
$fedagent3 enable-trace
Sfedagent4 enable-trace
$fedagent5 enable-trace

$obj s subscribe-by Sobj_r
$obj 1s subscribe-by $obj_r

Application/TcpApp instproc shownmsg {data}
global ns
%ns trace-annotate "$self : $data "
1

proc finish {} {
global ns nf f namfile
$ns flush-trace
close $nf
close §f

puts "running nam..."
exec nam Snamfile &
exit O

Sns at
$ns at
Sns at

"5fedagent0 start”
"Sfedagent3 start”
"Sfedagentd start”

oo Q
— e

$ns at 5.0 "finish"

Sns run

4OTdl an3UddmunTsnaasuies Msd1anives federation VINAIMEY

set ns [new Simulator]
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set nf [open out.nam w]
set tf [open out.tr w]

$ns namtrace-all $nf
$ns trace-all $tf
set numrout 5

set numcon 5

for {set i 0} {S$i < $numrout} {incr i} {

set r{s$i) [$ns node]

for {set j 0} {$3 < $numrocut} {incr j} {

set confed($i,$j) [$ns node ]

}
}
set rtinode [$ns node]
set regnode [$ns node]
set routerx [5ns node]
$ns duplex-link $routerx $r(s0) 1000kb 10ms DropTail
$ns duplex-link-op $routerx $r(s0) orient right
$ns duplex-link S$rtinode $routerx 1000kb 10ms DropTail
$ns duplex-link-op $rtinode $routerx orient right
$ns duplex-link $regnode S$routerx 1000kb 10ms DropTail
$ns duplex-link-op $regnode $routerx orient down

set tcpRegQ [new Agent/TCP/FullTcp]

set tcpRReg(0 [new Agent/TCP/FullTcpl

set fedReg0 [new Application/FedTMTar $tcpReg0]

set fedRReg0 [new Application/FedTM/FedhAgent S$tcpRRegl]
set simobj [new Applicaticn/SimObj]

$simobj attachsize $size0

set simobj_s [new Application/TransObj}

$fedReg0 attachsimobj $simobj

$fedRRegl attachsimobj $simobj_s

for {set i 0} {$i < [expr $numrout-1]} {incr i} {
set j {expr $i+1]
$ns duplex-link $r{s$i) S$r{s$j) 2Mb 5ms DropTail
$ns duplex-link-op S5r{s$i) $r{s$j} orient right
}
for {set i 0} {$i < $numcon} {incr i 1} {
for {set j 0} {$j < Snumrout} {incr 3} {
sns duplex-link $r(s$i) $confed{$i,$j) 2Mb 5ms DropTail
$ns duplex-link-op $r({s$i) $confed($i,$j) orient right

set tcpRti($i,$3) [new Agent/TCP/FullTcp]

set tcpC{5%i,$j) [new Agent/TCP/FullTcp]

set fedRti($i,$j) [new Application/FedTM/FedAgent
StepRti($1,%73)]

set fedC($i,$j) [new Application/FedTMTar $tcpC{$i,$])]

$ns attach-agent $rtinode $tcpRti($i,$])

$ns attach-agent $confed($i,$j) StcpC($i,$])

set simobj r{$i,$3j) [new Application/RecvObi]
$fedRti(%$i, %7} attachsimobj $simobi_r(5i,$])
fedRti (5i,%$7} lookahead 1

fedC($i,$j) lookahead 1
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$simobj s subscribe-by $simobi_r($i,3$])

proc finish {} {
global ns nf tf
$ns flush-trace

5ns
$ns
$ns
Sns
$ns
$ns

Sns
$ns
s$ns
$ns
$ns

5ns
Sns
3ns
$ns
Sns

$ns
Sns
$ns
Sns
Sns

$ns
3ns
S$ns
Sns
$ns

s$ns
$ns

close Snf

close $tf

exec nam out.nam &

exit 0
at 0.1 "S$fedReg0 start”
at 0.1 "$fedC(0,0) start™
at 0.1 "SfedCt{0,1} start"”
at 0.1 "S$fedc(0,2) start"
at 0.1 "$fedC{(0,3) start”
at 0.1 "S$fedC(0,4) start”
at 0.1 "SfedC(1,0) start"
at 0.1 "SfedCc{1l,1) staxrt"
at 0.1 "SfedC({(1l,2} start™
at 0.1 "$fedC(1,3) start"”
at 0.1 "S$fedC(1l,4) start”
at 0.1 "$fedC(2,0) start”
at 0.1 "S$fedC(2,1) start”
at 0.1 "SfedC(2,2) start"
at 0.1 "3fedC(2,3) start"
at 0.1 "sfedC(2,4) start"
at 0.1 "$fedC(3,0) start™
at 0.1 "$fedC{(3,1) start”
at 0.1 "SfedC(3,2) start"
at 0.1 "$fedC(3,3) start"”
at 0.1 "$fedC(3,4) start"
at 0.1 "$fedC(4,0) start"
at 0.1 "SfedC{4,1) start"
at 0.1 "SfedC(4,2) start”
at 0.1 "$fedC(4,3) start™
at 0.1 "SfedC(4,4) start”
at 5 "finish"
run
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